

Vorles 41

(a)  $\lambda \in \mathcal{F}' \Rightarrow \hat{\lambda} \in \mathcal{F}'$

$\Gamma \varphi_n \rightarrow \varphi_n \in \mathcal{F} \Rightarrow \hat{\varphi}_n \rightarrow \hat{\varphi} \in \mathcal{F}' \quad (V31(S))$   
 $\Rightarrow \lambda(\hat{\varphi}_n) \rightarrow \lambda(\hat{\varphi}) \Rightarrow \hat{\lambda}(\varphi_n) \rightarrow \hat{\lambda}(\varphi)$

$\hat{\hat{\lambda}}(\varphi) = \lambda(\hat{\varphi}) = \lambda(\check{\varphi}) = \check{\lambda}(\varphi)$

$\hat{\hat{\hat{\lambda}}}(\varphi) = \lambda(\hat{\hat{\varphi}}) = \lambda(\varphi)$

$\Rightarrow \lambda \in \mathcal{F}' \text{ linearisierbar} \quad \lambda = \hat{\hat{\lambda}}$

linearisierbar  $\downarrow$

(b)  $\lambda_n \rightarrow \lambda \in \mathcal{F}' \Leftrightarrow \hat{\lambda}_n \rightarrow \hat{\lambda} \in \mathcal{F}'$

$\Gamma$  durch (a) sicher  $\Rightarrow$   
a type pass  $\hat{\lambda}_n(\varphi) = \lambda_n(\hat{\varphi}) \rightarrow \lambda(\hat{\varphi}) = \hat{\lambda}(\varphi)$

(c)  $f \in L^1(\mathbb{R}^d) \Rightarrow \hat{\hat{f}} = \hat{f}$

$\Gamma \hat{\hat{f}}(\varphi) = \hat{f}(\hat{\varphi}) = \int_{\mathbb{R}^d} f \cdot \hat{\varphi} = \int_{\mathbb{R}^d} \hat{f} \cdot \varphi = \hat{f}(\varphi)$   $\downarrow$  T26(g)

(d)  $f \in L^2(\mathbb{R}^d) \Rightarrow \hat{\hat{f}} = P(f)$

$\Gamma \hat{\hat{f}}(\varphi) = \int_{\mathbb{R}^d} \hat{f} \cdot \hat{\varphi} = \lim_{n \rightarrow \infty} \int_{\mathbb{R}^d} \chi_{B(0,n)} f \cdot \hat{\varphi} \stackrel{\text{Leibniz, myranta } |f \cdot \hat{\varphi}|}{=} \lim_{n \rightarrow \infty} \int_{\mathbb{R}^d} \chi_{B(0,n)} \hat{f} \cdot \varphi \stackrel{\text{T26(g)}}{=} \int_{\mathbb{R}^d} \hat{\chi_{B(0,n)} \hat{f}} \cdot \varphi =$

$= \lim_{n \rightarrow \infty} \int_{\mathbb{R}^d} P(\chi_{B(0,n)} \hat{f}) \cdot \varphi = \int_{\mathbb{R}^d} P(f) \varphi$   $\downarrow$

$\chi_{B(0,n)} \hat{f} \in L^1 \cap L^2$

$\chi_{B(0,n)} \hat{f} \rightarrow f \in L^2$   
 $\Rightarrow P(\chi_{B(0,n)} \hat{f}) \rightarrow P(f) \in L^2$

(e)  $P$  polynom ...  $P(t) = \sum_{|\alpha| \in \mathbb{N}} c_\alpha t^\alpha, t \in \mathbb{R}^d$

$$\begin{aligned} \widehat{P(D)\Lambda}(\varphi) &= P(D)\Lambda(\widehat{\varphi}) = \sum c_\alpha D^\alpha \Lambda(\widehat{\varphi}) = \Lambda\left(\sum c_\alpha \cdot (-i)^{|\alpha|} D^\alpha \widehat{\varphi}\right) \\ &= \Lambda\left(\overset{\vee}{P}(D)\widehat{\varphi}\right) = \Lambda\left(\overset{\vee}{P}(D)\varphi\right) = \overset{\vee}{P} \cdot \overset{\wedge}{\Lambda}(\varphi) = \overset{\vee}{P} \cdot \overset{\wedge}{\Lambda}(\varphi) \end{aligned}$$

$\uparrow$   
VZB(CC)

$$\begin{aligned} \widehat{P \cdot \Lambda}(\varphi) &= P \Lambda(\widehat{\varphi}) = \Lambda(P \cdot \widehat{\varphi}) = \Lambda\left(\overset{\vee}{P}(D)\widehat{\varphi}\right) = \\ &= \overset{\wedge}{\Lambda}\left(\overset{\vee}{P}(D)\varphi\right) = \overset{\wedge}{\Lambda}\left(\sum c_\alpha \cdot (-i)^{|\alpha|} D^\alpha \varphi\right) = \\ &= \sum_{\alpha} c_\alpha \cdot (-i)^{|\alpha|} \cdot (-i)^{|\alpha|} D^\alpha \overset{\wedge}{\Lambda}(\varphi) = \sum c_\alpha \cdot (i)^{|\alpha|} D^\alpha \overset{\wedge}{\Lambda}(\varphi) = \overset{\vee}{P}(D)\overset{\wedge}{\Lambda}(\varphi). \end{aligned}$$